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6.1 Identities: Pythagorean & Sum and Difference
Reciprocal Identities
1 . 1 1 1 1
csCx = —— , slnx = , Secx = ,C08x = — ,cotx = — ,tanx =
sinx CsSCXx CcosXx secx tanx cotx
Ratio Identities
sinx cos X
tanx = — , cotx = —
COosSX sinx

Cofunction Identities

. T T .
Sin (E - x) =cCcosx , cos (E - .?C) = Sinx
T T
tan (E - X) =cotx , cot (E - X) =ftanx

s T
CcsC (E—X) =secx , sec (E_ x) = CSCX

Pythagorean Identities

sin®x + cos?x =1 1+ cot?x =csc?x , tan?

’

x+1=sec’x
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Sum and Difference Identities (6.1-book, 6.2-handout)
sin(a+b) ;’: SINAR+Sin B
sin(a-!-b) = sinacoslb +cos asin b
sin@-b) = sinacosb - cos a s; nb

cos(atb) = cosacos|y —sinasi nk
Cos (a-@ =cosacoesh *+Sina SN Z)
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4. sin ’(;:I°Cos|é:f°- cosl G.'-T'osin (570
= sin (167°-1037)
= slnb(’
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20. SInX COSIX + cosX SinAX

= Sin (X +3x)

-‘-[sir\ ‘\‘)Z]
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o e Phns - San ) %
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40. Given cosk= '-5 R A EQIT
SipP"2+’ Pe&m

find snEtp) cos(x+p) ton(otp), &
determine -meqwarm(: in Which, ke (ies .
¥ fythagerean friples +hat are useful fo fnow:

3435 ;5 '7-_,|3 ?121;255

’“C“ ) =Sin o +C0S< SN

{57 )(zs) n) (s %ﬁ_- ;%
Gos(“b')—(‘osa:m ,‘Xﬂg ) 5‘0 30 = @

tan (x4 ,s) (Q?ﬂ)
PG (G ‘\-lb

©o# Qi)

Homework:
6.1 Handout: #13-23 odd (proofs)
6.2 Handout: #1-23 odd; 35-41 odd

& memorize your identities!!!

b.l Prove.
. Cosx
[-Sinx
LHS = cosx.  1+sinX CoﬁX(H'Sm] = ..
. . —
[~SNX [+8iNX |"'5ln X

= seex+tan X
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